FACE OF
GUARDRAIL

FACE OF
GUARDRAIL

13' -6 1/2"

3-11/2"

| 31172

3-11/2"

( (SEE NOTE 3))

— 4 1/4"

(SEE NOTE 3)

(SEE NOTE 3)

L2

20"

D [0]

i Y

2. g

SPLICE BOLT SLOT (TYP.) ~
29/32" (IN) x 1 1/8" (IN)

1

|

’.
’.
I

RAIL ASSEMBLY

TYPICAL RAIL ELEMENT

5/8" (IN) x 18" (IN) BUTTON HEAD BOLT
WITH 7/32" (IN) OVAL GRIP AND
RECESSED HEX NUT

5/8" (IN) x 1 1/4" (IN) BUTTON HEAD SPLICE
BOLT WITH 7/32" (IN) OVAL GRIP AND
RECESSED HEX NUT ~ TWELVE (12)
REQUIRED PER SPLICE

TYPE 10

NESTED THRIE BEAM —._

WOOD POST A BL

POST BOLT SLOT (TYP.) ~
3/4" (IN) x 2 1/2" (IN)

1 3/4" (IN) POST BO E

WASHER

OLT SLOT (TYP.) ~
" (IN) x 2 1/2" (IN)

O

/4" (IN) x 3 3/4" (IN)

NOTES

1. Type 10 post shall be 6 x 8 timber, OR either W6 x 9, or W6 x 8.5 steel.
Type 11 post shall be 10 x 10 timber or W6 x 15.
For additional details see Standard Plan C-1b.

2. Type 10 guardrail post spacing shall be 6' - 3" on center.
Type 11 shall be a maximum of 3' - 1 1/2" on center.

Spacing may vary depending on application. See Standard
Specification Section 9-16.3(1) for rail element requirements.

13' -6 1/2"

i ! f——
{ (SEE NOTE 3)

6' -2 1/4" 6 - 3" 6 1/4"
(SEE NOTE 3)

4 !

.2

a2

POST BOLT SLOT (TYP.) ~

/ 3/4" (IN) x 2 1/2" (IN)

N T SLOT (TYP.) ~ /

20"

7

(
\
I I I
DL /(/ [0} o)
A\

N SPLICE BOLT SLOT (TYP.) ~

20/32" (IN) x 1 1/8" (IN)
EXPANSION SECTION

TIMBER BLOCK
FOR STEEL POST

THRIE BEAM GUARDRAIL ~
) 1.3/4" (IN) POST BOLT NESTED FOR TYPE 11
o=z e=—cfb WASHER
R 5/8" (IN) x 25" (IN) BUTTON HEAD BOLT
= WITH 7/32" (IN) OVAL GRIP AND
& [===fF===p RECESSED HEX NUT
(SEE NOTE 1)
> (SEE NOTE 1)
5/8" (IN) x 10" (IN) BUTTON HEAD
5/8" (IN) x 1 1/4" (IN) BU FAD SPLICE BOLT W/ 7/32" (IN) OVAL GRIP &
BOLT WITH 7323 ( GRIP AND HEX NUT W/ CUT WASHER
' i RECESSES HEX NU ELVE (12)
l i REQUIRED PER SPLICE
1 r 1 ~
: 1
RAIL ASSEMBLY WOOD POST ASSEMBLY STEEL POST ASSEMBLY
TYPE 11 TYPES 10 AND 11
FILE NAME S:\Design R P& S\4-Standards\2-Plan Sheet Library\04-PSL Work in Progress\Std. Plan conversions to PSL 2020\TB- Barrier plans for conversion\TB-100_e.d
TIME REE’I\ON STATE FED.AID PROJ.NO. ‘ PLAN REF NO
DATE 10 [WaSH '7’ BEAM GUARDRAIL TB-100
PLOTTED BY
oty —— Hinoton'S (THRIE BEAM)
ENTERED BY Washington State ] -
CHECKED BY CONTRACT NO. LOCATION NO. Department of Transportation oF
PROJ. ENGR. - il
REGIONAL ADM. REVISION DATE BY P.E. STAMP BOX






